T3J2
s Rl'g,fd Bao‘\o,, Mofions <'—'~" Ker £(v) > :

o | emma 3.1

Let SL ¢ 123 be a bowauded domain w'lh
P25t €G%" aud ve [HYD]3. Then

EW)=0&S> ve R={ve)=axx+b: abel’
translgtlong ro¥a€wn !
where - —

Ro=span] () 9,

), 3). () () (2) Jetor”

devolet the Su(;space of m‘gfd boJJ mof ons l

e EFOO£5
a) veR = €4 v)=0 Vr.'q:/'l;? Ctnvial )
9) E,J(v):O V(=193 => ve R

Egyw=o
VK.:'J = iﬂx,i + {"m[d = gé\r% = O in H (5)

s
1 (el Yt + Vg g, = Ny )

V(;1=473 ¥ k=73
= \/U() = A Lld +b ::[aqu(.,i]waﬁme (metr,‘

weth A‘(Bx})'uahc’xl bell?.
2 EW)20 = ay=0 (F) und Qe ="y,
e, A=-A-= _2“-&3). a“]

Qa3
~a13 ~%3 ©

L vix)= axaxet+thb = R

- et

® Exercise 3.4t 2D [ ile R R Lip
eu (v)=0 { flj‘m / VG[H’(J?)]Z@ VE .R_:’ 3



